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SN B e(3H) Ak o e HRZ2

HOlMER 33,287,000 16,264,800 17,022,200
= 7,769,000
& 15,518,000
Xl 10,000,000

HAZ2AHO THOIA =& 7,787,000 11,764,800 A 3,977,800
= 7,769,000
& 18,000

H3&0l =T Al X 7,787,000 11,764,800 N 3,977,800
= 7,769,000
= 18,000

HETA FHXE X 7,787,000 11,764,800 N 3,977,800
= 7,769,000
== 18,000

201 B2 HH| 8,000 13,800 A5,800

01 ArR2t2|t| 8,000 13,800 A5,800
Ogdt+=EH| 8,000

202 O4d| 10,000 10,000 0

01 ZUWdH 10,000 10,000 0
OHESEEE A 10,000

403 XXIEHMSA=20lH 7,769,000 11,741,000 A 3,972,000
= 7,769,000

01 XrXISHA X2 7,769,000 11,741,000 A3,972,000
OQHETA =H 7,769,000
- S3FAl 4,158,000
- 4,158,000
- Hl|Z 3,611,000
= 3,611,000

MREs(TEIMER) 25,500,000 4,500,000 21,000,000
= 15,500,000
Al 10,000,000

WEHHKI = 25,500,000 4,500,000 21,000,000
& 15,500,000
Xl 10,000,000

TEHAMEAHE EEI S 25,500,000 4,500,000 21,000,000




SN EHOEES
HE: JRES(SHMES)
o9l 2RI CRE-E)

_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
SHATZANE SE3H HE2 3 15,500,000

X 10,000,000

701 JIEtSHEES 25,500,000 4,500,000 21,000,000
< 15,500,000
X 10,000,000

01 JIEtSIHEES 25,500,000 4,500,000 21,000,000
OSHAMEAIZNE SE3H HE2 25,500,000
= 15,500,000
X 10,000,000




